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{ Introductory Econometrics )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
oY 2PepTYRs T fie

(a) Mention one importance of normal
distribution.

ST T69 b1 Il S 41 |
(b) When is F-test used?
F-*[3rF] (Fleq] 39921 91 = ?

(c) Give one property of t-test.

t-2[RrFe o1 CIPE e |
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(2)

(d] Mention one cause of heteroscedasticity.
Reafvera <b1 24 99 TeEy 40 |
fe) When does specification error arise?

o Reae w6 i s 2w

()l  What is linear equation?

@R g 2

fgl Write the full form of BLUE.
BLUEA 5 53 forsit |

(h) Define coefficient of determination.

SFE FRIR e e |

(i) If the error term is not distributed
normally with 62 variance, what type of
problem may arise?

At @6~ e Re3em s o 2femen
=Y, (012 T8 (FCHR9R PR ¥8E 297

() What is critical region?
Aoy ¢ 62

2. Answer the following questions : 2x5=10
©ad 2P e fa o

(a) Mention two properties of estimators.

EERS o1 G w349 |
24A/704 ( Continued )

(3)

(b} What does an error term represent?
i RGeS G

(c) Mention two sources of autocorrelation.
T 51 BT S 1 |

(d) When does heteroscedasticity arise?
fRaaieen aien bed = 2

{e) Distinguish between one-tailed test and
two-tailed test.

ag-ERiE wF R-opERRE R Tee
#1557 fore |

3. Answer any four of the following questions :
5x4=20

TR 2P R e miRt e i

(a) What is normal distribution? Mention
the properties of normal distribution. 1+4=5

STHEE 95 & 2 ST4Ee I6a9 @RERTR T |

(b} What is hypothesis testing? What are
the various steps of hypothesis testing?

1+4=5
2o mwel B0 oo A [Rw s3@R
fora 1
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(©

(d)

(e)

{ %1

Explain type-I and type-II error. 5
ALY AP o wE Ry «9ET Fhe T
i

Explain the concept of regression.
Discuss the importance of regression in

economics. 2+3=5
TR YRAC] A TG | SRS TR
GFG TS AT 4 |

Distinguish between multicollinearity
and autocorrelation.

I UF WD qEe Al
HITEHAGA F41

Explain the method of measuring the
goodness of fit in a multiple regression
model.

9@ FEET SRS e q@ere Rfy @9E
(=SB AN 41 1

4. Answer the following questions : 10x4=40
O 2R B fi
{a) Estimate the regression lines from the

24A/704

following data : 10
fafeifie oy9 @1 X3 e°[@e v3 FWRE @
e 4l

X ¢+ 78 B89 97 H9 59 T9 68 61
Y : 125 137 156 112 107 136 123 108

{ Continued )

(b}

fc)

DAA[T04

(5)

Or / 353

Explain the consequences of auto-
correlation on OLS estimation. How can
autocorrelation be corrected? 4+6=10

OLS W[OS XUHDTHT FAHEE A
EX RGeS v fle e i A E R

What is test of significance? Mention the
various steps associated with tests of
significance. 3+7=10

el #@rs {2 ew AHR qve wie
TR SrEy 9 |

Or / 9331

Explain the consequences of multi-
collinearity. 10

LRI USEPHR SIEEbAl 1] |

State and prove Gauss-Markov theorem
for B; in linear regression model
Y, =By +B X; +uy, where By and B; are
parameters and u; is stochastic term. 10

Y =Bp 61X, +uy TEERT NR WMES
AT OGO TS WF 4T 79 | '@ P
HF By 2A6A 5 € u, @ oW 2T |
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(d

24A/704

(6)

Or / g4

Distinguish between null hypothesis and
alternative hypothesis.. When is chi-
square distribution used? A random
sample of 5 students from a class was
taken. The marks scored by them are 80,
40, 50, 90 and 80. Does these sample
observations confirm that the class
average is 70? [Tabulated value of
t =2 78 corresponding to (n—1) d.f.].

2+3+5=10

e S o R S e e o |
chi-3of Rea e 392 341 = 7 @6 9
5 & ¥E9 T99 WFIEOSIE @R 2E |
(OéEF 799 AW 80, 40, 50, 90 HF 80
B, ¥ RIGIACT & eRT /@ 70 I
oufie FEEH? [t=2:787 GFRES T
(n-1) d.f 3 A Bl |

Explain the uses of dummy variable for
measuring the change in parameters
over time. What is the use of dummy
variable in seasonal analysis? Explain.

5+5=10

2AT659 W7 +ifRe$a e = ate amRAE e
RO IRTT T W, A | Ay
Romr ceae ofted o v Taem o
= 7 IR R

( Continued )

(7))

Or / g4t

Explain how specification error may
arise if irrelevant variable is included in a
linear regression model. Explain the
consequences of specification error. 4+6=10

TP e Rl Rew Raed @f6 @ema
Tgq 2 G A G FOT FSRPER A
F40

* Ak
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